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8Q�FDEOH�FRD[LDO�SXHGH�VHU�FRQVLGHUDGR�HTXLYDOHQWH�D

6LHQGR�/�\�&�OD�DXWRLQGXFFLyQ�\�OD�FDSDFLGDG�GHO�FDEOH�SRU�XQLGDG�GH�ORQJLWXG�

(V�IiFLO�FRPSUREDU�TXH�HQ�XQ��SXQWR��[��VH�YHULILFDQ�ODV�GRV�HFXDFLRQHV
VLJXLHQWHV
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([SUHVLyQ�TXH�QRV�LQGLFD�TXH�FXDOTXLHU�VHxDO��SHUWXUEDFLyQ��TXH�VH�SURSDJD�HQ
XQ�FDEOH�FRD[LDO�VLJXH�XQD�HFXDFLyQ�GH�RQGDV�\�YLDMD�FRQ�XQD�YHORFLGDG�LJXDO�D�Y
 ��/&��������/DV�VROXFLRQHV�GH�HVWD�HFXDFLyQ�VRQ�GH�OD�IRUPD�
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VH�OD�GHQRPLQD��5����UHVLVWHQFLD�FDUDFWHUtVWLFD�GHO�FDEOH��\

HQ�ORV�FDEOHV�FRD[LDOHV�WLHQH�YDORUHV�WtSLFRV�GH����D����Ω

(VWD�FDUDFWHUtVWLFD�RQGXODWRULD�GH�OD�WUDQVPLVLyQ�GH�VHxDO�HQ�XQ�FDEOH�FRD[LDO
WLHQH�VX�SODVPDFLyQ�´SHUYHUVDµ�FXDQGR�HVWXGLDPRV� OD�WUDQVPLVLyQ�GH�XQD�VHxDO
JHQHUDGD�SRU�XQ�GHWHFWRU�FX\D�LPSHGDQFLD�GH�VDOLGD�HV�5��\�FX\D�GHWHFFLyQ�VH
YD�D�UHDOL]DU�FRQ�XQ�GLVSRVLWLYR�FX\D�UHVLVWHQFLD�LQWHUQD�HV�5��

(VTXHPiWLFDPHQWH

(V�IiFLO�FRPSUREDU�TXH�HQ�XQ�PRQWDMH�GH�HVWDV�FDUDFWHUtVWLFDV�ODV�FRQGLFLRQHV
GH�IURQWHUD�VRQ
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/DV� P~OWLSOHV� UHIOH[LRQHV� GH� OD� VHxDO� HQ� ORV� FDEOHV� FRD[LDOHV� HV� XQ� VHULR
SUREOHPD�TXH�SXHGH�HYLWDUVH�HVFRJLHQGR� DGHFXDGDPHQWH�HOLJLHQGR� ORV� YDORUHV
GH�5��\�5���&RPR�SXHGH�DSUHFLDUVH�H[LVWHQ�ORV�VLJXLHQWHV�FDVRV�OtPLWH�
• 5�!!5������ρ �
• 5� �5������ρ �
• 5≅���������ρ ��

3DUD�YLVXDOL]DU�HVWH�FRPSRUWDPLHQWR�GLVSRQHPRV�GH�

�� 8Q� JHQHUDGRU� GH� VHxDOHV� FRQ� XQD� LPSHGDQFLD� GH� VDOLGD� � GH� ���Ω� \� XQD
IUHFXHQFLD�Pi[LPD�GH�����.+]�

�� 8Q�ILOWUR�5&�SDUD�EDMDV�IUHFXHQFLDV�PRQWDGR�HQ�XQ�FDEOH�FRD[LDO�
�� 'RV�FDEOHV�FRD[LDOHV�GH���PHWUR�\�GH����PHWURV�UHVSHFWLYDPHQWH�
�� 8Q�RVFLORVFRSLR�FRQ�XQD�LPSHGDQFLD�GH�HQWUDGD�GH���0Ω�
�� 8QD�UHVLVWHQFLD�YDULDEOH��UDQJR��GH���Ω�D�����Ω��
�� 8Q�WHUPLQDO�HQ�IRUPD�GH�7�\�XQD�FDUJD�UHVLVWLYD�GH�DGDSWDFLyQ�

([SHULHQFLDV�TXH�GHEHQ�UHDOL]DUVH�

• &RQHFWDU�GLUHFWDPHQWH�D�OD�VDOLGD�77/�GHO�JHQHUDGRU��D�Pi[LPD�IUHFXHQFLD�
HO� FDEOH� GH� �� PHWUR�� &RQHFWDU� HO� RWUR� H[WUHPR� GHO� FDEOH� D� XQR� GH� ORV
H[WUHPRV� GHO� WHUPLQDO� HQ� IRUPD� GH� 7� \� HVWH� ~OWLPR� DO� RVFLORVFRSLR� �'HMH
OLEUH�XQR�GH�ORV�H[WUHPRV�GH�OD�7���'LEXMDU�OD�VHxDO�LQGLFDQGR�VX�DPSOLWXG�\
VX�IUHFXHQFLD��¢�2FXUUH�DOJR�DO�FRQHFWDU�DO�H[WUHPR� OLEUH�GH� OD�7� OD�FDUJD
UHVLVWLYD"

Osciloscopio

Detalle
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• 'HVFRQHFWH�OD�FDUJD�UHVLVWLYD�H�LQWHUFDOH�HQWUH�HO�JHQHUDGRU�\�HO�FDEOH�GH��
PHWUR�HO�ILOWUR�GH�EDMD�IUHFXHQFLD��'LEXMDU�OD�VHxDO�LQGLFDQGR�VX�DPSOLWXG�\
VX�IUHFXHQFLD��1RWD�DOJXQD�SHFXOLDULGDG�HQ�OD�VHxDO��,QGtTXHOD�

• 5HSLWD�OR�UHDOL]DGR�HQ�HO�SULPHU�DSDUWDGR�FRQHFWDQGR�DKRUD�HO�FDEOH�GH���
PHWURV��QR�FRQHFWH�OD�FDUJD�UHVLVWLYD���¢4Xp�OH�RFXUUH�D�OD�VHxDO"�'LE~MHOD
HVSHFLILFDQGR� VXV� SDUiPHWURV� �IUHFXHQFLD�� DPSOLWXG�� HWF��� ([SOLTXH� HO
UHVXOWDGR�� � ¢4XH� RFXUUH� DO� FRQHFWDU� OD� FDUJD� UHVLVWLYD"� �¢FyPR� VH� YHQ
DIHFWDGRV�ORV�SDUiPHWURV�DQWHULRUHV"���([SOLTXH�ODV�FDXVDV�

• 4XLWH�OD�FDUJD�UHVLVWLYD�\�VXVWLW~\DOD�SRU�OD�UHVLVWHQFLD�YDULDEOH�

D� 'HWHUPLQH�HO�YDORU�GH�OD�UHVLVWHQFLD�HVSHFtILFD�GHO�FDEOH�FRD[LDO�
E� 8WLOL]DQGR� HVWH� YDORU� LQGLTXH� ORV� YDORUHV� TXH� GHEHQ� WRPDU� ORV

FRHILFLHQWHV�GH�UHIOH[LyQ�HQ�ORV�H[WUHPRV�GHO�FDEOH�
F� ¢4Xp� YDORU� VH� SXHGH�PHGLU� SDUD� HO� SURGXFWR� GH� ORV� FRHILFLHQWHV� GH

UHIOH[LyQ"

• 5HDOLFH�DKRUD�HO�VLJXLHQWH�PRQWDMH

e-t/τ

Al generador de señal

Resistencia variable
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¢&yPR� HV� OD� VHxDO� D� OD� HQWUDGD� GHO� RVFLORVFRSLR"� 'LE~MHOD�� ,QGLTXH� WRGRV� VXV
SDUiPHWURV�
¢&XiQWR� WDUGD� OD� VHxDO� HQ� YLDMDU� D� OR� ODUJR� GHO� FDEOH"� 7HQJD� HQ� FXHQWD� TXH
UHDOL]D�HO�WUD\HFWR�GH�LGD�\�GH�YXHOWD�
6DELHQGR�TXH�WHQHPRV����PHWURV�GH�FDEOH�¢FXDO�HV��HO�tQGLFH�GH�UHIUDFFLyQ�GH
OD�OX]�HQ�HO�FDEOH"
¢4Xp�RFXUULUtD�VL�WUDEDMiVHPRV�FRQ�XQD�IUHFXHQFLD�GH�VDOLGD�GH���0+]"

Cable de 20 metros
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